AT

= 1
| K | X B
4 5 8
\ Btk
NS
q 10 11 12 15
TN N '3 e = Bk
(RE—YnA) I/INE N b S VA% =)
2N /3’3’55('5' [ 112 NG|
16 17 18 19 20 21 22
& pan e [ERE
- NG & 2420k
23 24 25 26 27 28 29
ﬁ% -%%' f”iﬁ& I~
NE/ BEE
30 31
> OZRMEBIHEEHLILESTREEFFEVNELET,
NE/ BEE %. OFLMICIZBRMDTEEANELFAVWELET,
RE -
~ SR E~ I
[&RERIMH]

| OBORBSIEIX TYLM2DE) ~NfTE T
KRIBSPEICERMINLVEIX TKBAE) ANTEF T

[/NaD+ > HilfE]

By IR S EIRVBR Yy v 74 -5V 9 DEBEERBY T T
navs oAy 7T EYVEITS

[BEFHYVY 4]
BEFLOBNH>TVWEMELESCYEETEREFHNV I —LELETS
CEI21=D

BE¥:138 (&) -278 (&) / ##:168 (A) -318 (X
KETOEFHENIFRIILIZLIITIITIVERA, TTHRLEXWY,




